//7/6

Chs gt

Gz 2"




r 12 Reviun T Wath 4 —

2 1 le R
g -+
+

:0‘\2[;{ '
% oo, (%)= -2 f’
Lt )




l+’L 3 )
| '*2«311, =5
S | slsy e -24




Lf/z('a

R

PSSR i L B _‘

X 4”%""%3 \

I at 132 2+ gz (3= \ \
| 2 3 +3 =343 b

[ o | 2%ha= 3437 d42-2%)

e s TR VA A

gt =Fx-2 ,.,arszfo”*w

- f@aa\&) = Wa o))

- ?(OR(K)\ -

= Z(xr+l) " 2..
= ey +F
(fogdy = Mx* 45 o




Sk
_ COwapr 12 Rewrew — Mot Y —
#q.

Loz, 4 g00= XD

; ,_ _N,.#_.__.:Q,L(gﬁmf) = CH?\(;()} f:;,_? %&FO{J‘) L..f’i);.).m
= ‘17%‘4\ +q

Q‘M

...................... ﬁm ce Llom)) =X k) g(@m) = i
ey Pk =€3(X) B a0 e (v UM&S &‘@—ea&t aﬂw’

B o T B gpm e

_ Ltge) s Yael=y | ﬂ foo)e (R0 )+d
=Yt M) S

A

L U x3 —

_j__j_jj;j_j S ine Feap o wd 4 o))z x | ure hnew Y3
"Fﬁei I e?aw s M&"M% a:% maéa m#—M




11. What test do you use to determine if a given graph representsa
function that has an inverse function? State the test. U2 ‘e Houno

t
L\ he ‘Qes:'h

€/,

12. Determine whether each graph represents a function that has an
inverse function. State your conclusion.
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